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COMMERCIAL TAX INSPECTOR (K K) IN THE DEPARTMENT OF COMMERCIAL TAX

Total Marks : 100

Examination held on 07.01.2024 (FN)
General Knowledge Paper-1 (Subject Code: 567)
KEY CHART

Question Booklet Series - 'B'

1 Mark for each question

Question Key Question Key Question Key Question Key
Number | Answer | Number | Answer | Number | Answer | Number | Answer
1 3 26 3 51 4 76 2
2 1 27 4 52 3 77 2
3 4 28 2 53 2 78 3
4 3 29 2 54 2 79 4
5 1 30 4 55 3 80 1
6 4 31 2 56 2 81 3
7 3 32 1 57 2 82 3
8 1 33 3 58 4 83 1
9 2 34 1 59 3 84 4
10 4 35 3 60 4 85 1
11 2 36 1 61 4 86 3
12 1 37 1 62 1 87 2
13 1 38 3 63 3 88 3
14 3 39 4 64 2 89 1
15 2 40 3 65 1 90 4
16 1 41 4 66 2 91 2
17 2 42 1 67 1 92 3
18 3 43 4 68 3 93 2
19 1 44 2 69 1 94 1
20 2 45 3 70 3 95 3
21 2 46 4 71 1 96 4
22 4 47 1 72 2 97 2
23 3 48 4 73 3 98 4
24 1 49 1 74 2 99 4
25 3 50 2 75 4 100 3

Note: Every question for which wrong answer has been given by the candidate, %4 th of the marks
assigned for that question will be deducted.

Sd/-

Controller of Examination

Karnataka Public Service Commission

Bengaluru.




1. 2020 — 250 8moruid Bymbse dedab 3500

o SUNR aos SPeFsoe FOAE?
(1) Swod 1 DB 2 . Aarle i)
- Somh3BB B
Soch 3 DR 4 ¢ B,mddabe Hord¥a
' Soriw
) Soah 1R 2 : Bmddahd
S0oDBIT B
Soah 3 BB 4 B eped3 BN
3)Sooh 1 R 2 : B0 bombea,
BJriwd
Seoab 3 DI 4 P8 RSO
ZwoRTTB BSried
4) Svad 1D 2 : 8)d e5ed3 BJnWD
Suoh 3R 4 BywBBehY bothosd
-BJri

2 Bmores abByd esdraer% A a.{taeasai o
YRS anwTE, BowohAw ?

(1) Y30 JI@50 esdeeri; O adresd

(2)
() oy Iserdd esdeer}; OFs aloedr

(4) 8eod, XHETT escheri, U5 aleeds

8 BYNIYHrivd adrgch Sveruss m#m&aﬂ

03,038 Vgd Bearerirmend ?

(1) Fudye

(2) Dozde

3) Peadr

(4) @voriioy, -

/ BFLBE  TTaohdd R
8,md% Buf 0O ? -
(1) ®d=0
(2) dornved
(38) @orided
4) BYm

567

JedpeBser

#9177270

2N s 3y esdeer); OF8 deeds

I
(

(
I
{
I
|
|

-}F‘J_Llléfu

e R A

y’/mémﬁ dcert Bowoddtod S VAT

olrea @ewd [OARAE ?

A.

T0ATAE  ABodROrt  TowoRdToI

,e/ 20193

o"aagﬁaubdbﬁ Fud e méob-aorici
©050.

B. . zodimeonia  @oResdAT  HRANS
SAATN ) e a3
~e;0dreonia Clal.rlo NENS

C. mojnorid) 33 BeBFRD,
d:dmbaeemafoa’ BeSDa <oIS
lal.ple]

D. odgead dwe ogendrt g8, I3
ARBANYRY, Srriedda A 0dreond
(Zal.rle}

8 3t XBDT eusdrivd TO eVSOB),

eso.‘u&dp& :

1) Baa&D

2 A,B,Ca&aD

3 CaD

4) AzRD

o3, SRad  seapabIad
31 6&Jocwof, 2014 devrl wqaaaramgai :
DeSTRN, WooryuiedBond 2eU3s, TUT wod

@ 8vdod BRroSOr we0dedd wenos3,

- 3daben edF TODT 83503 edT.
A bodenw Crla R e
B. z.i‘Bdch Horie (N el
C mmmw b & ?dcb
D. ' a‘h)mdacb
8 3t QBB euzorivd) asa VBT,
ol 3ol :
1) AB d)‘dx) D
(2) 'A,B,Ca@&D
3 Aa=B
4) A/BaaC




1.

2.

567

‘(1) Zoneland 2 :

According to Karnataka Industrial Policy | 5.
2020 - 25, which are the correct
categories of the following :

Industrially
developed districts

q
Zone 3and 4 : Industrially E\*‘
backward districts %:
(2) Zoneland 2 : Industrially. . :m
developed districts I
Zone 3 and 4 : Agro-based districts
(3) Zoneland 2 : Industrially
backward districts
Zone3and 4 : -Industrially
developed districts
(4) Zoneland2 : Agro-based districts
Zone3 and 4 Industrially
backward districts

o
Which of the following is related tofh
Karnataka Yeshasvini Health Insurancej.

Co-operative Farmers healthcare};
scheme '
Private Hospital healthcare scheme

State  Government healthcare
scheme

(4) Central Government healthcare

scheme

Which one of the following is the 1
inland waterway of Karnataka?

(1) Ghataprabha '

(2) Malaprabha

(3) Bhima

(4) Tungabhadra _ :
Where is Karnataka’s chemical andj
petrochemical industry hub located ?

(1) Karwar

(2) Bengaluru

) Mangaluru

(4) Belagavi

ongest

SR e o 24

A caw o A

(3-8)

(4)

With reference to Judicial Review, which

of the following staterents are true ? ]

A. The ri:;:ilzgof the Judiciary tD adV'lSB
the President in Constitutional
matters. .

B. The power of the Judiciary to
pronounce upon the constitutionality
of law passed by the Legislature.

C. The right of the Parlian;en? to ask
the Judiciary to review its own
judgements.

D. The right of the Judiciary to quash
the amendment to the Constitution

when it affects the basic features of
the Constitution.

Select the correct answer by using the
codes given below :

(1) BandD
(2) A,B,CandD
(3) CandD
AandD

With reference to the Citizenship
Amendment Act, 2019, the following
migrants from Afghanistan, Pakistan and
Bangladesh were eligible to apply for -
Indian citizenship who arrived in India
before 31% December, 2014 -

A.  Hindus and Sikhs

B. Buddhists and Jains

C.  Parsis and Christians
D. Muslims

Select the correct answer usin
given below :

(1)
(2)
3)
4)

g the codes

A,Band D
A,B,CandD
Aand B
A,Band C
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With reference to the Supreme .Courts’
interpretation, the following Rights are
listed in Article 21 :

A. Right to Privacy

B. Right to Reputation

C. Right to Information

D. Right to Security

E. Right to Doctor’s Assistance

Select the correct answer using the codes [
given below :

(1) A,BandC
(2) C,DandE

3) A,B,CandE
(4) B,C,DandE

Regarding the ‘Amendment of the Indian
Constitution, which of the following are
true ?

Bills can be initiated -in either

I
{

t

A
House of the Parliament.

B. No joint sitting in case of deadlock
between the two Houses.

C. President shall give his assent to]
the Bill.

D. The State Legislature’s assent is

required to amend any part of the
Constitution.

Select the correct answer using the codes
given below :

(1) A,BandC
(2) A,BandD
(3 A,CandD

(4) AandBonly

51

10.

A. B C D
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' p 1 m IV

-4

Match the provisions of Directive
Principles of State: Policy (List 1) with
then' correct Articles (List IT) :
 List1
Just and humane
conditions of work
and maternity relief .
II. Article 42

List IT

A. I. Article 48A

To secure a social

- order which stands
for the welfare of the
people
Protect the
environment and
safeguard the
forests and wildlife
Organisation of
village panchayats

I11. Article 40

D. IV. Article 38

Choose the' correct answer from the
options given below :

The following is the meaning of ‘Span of
control’ : '

(1) Tenure on a post

(2) Geographical jurisdiction
(3) The number of people
controlled

The number of subordinates or
units of work that an officer can
personally  direct, control and
supervise

being

(4)
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11. The following was the first to propound 14. Regarding impeachment of the President -
of India, which of the following is not
true:

12.

13.

cCo=

the concept of separation between Politics

and Public Administration :
(1) Aristotle

2) Woodrow Wils.on-

(3) Karl Marx

(4) Machiavelli

With regard to the ruling of the Supreme
Court, the Government of India appointed
the following Committee to identify the

creamy layer among the OBCs :

(1.) Ram Nandan Committee

(2) B.P.Mandal Commission

(8) Kaka Kalelkar Commission

(4) Sardar Swaran Singh Commission

According to Article 19 of the Constitution
of India, right to freedom is protectedﬁa
against only FE
‘ ) )
. . Tt
(1) State action ghl'?.
' F

@)
3

(C))

State and private individual action
State and private company action

Individual action

(7-B)

16.

1)

(2)
(3

(4)

Initiates in either House of the
Parliament -

14 days notice should be given

Nominaﬁed member cannot
participate in the process

Only for Violation of the
Constitution’

The source of energy for the synthesis of
food in plants is

(1)
(2)
3)
(4)

Chloroplast
Sunlight
Carbon dioxide

Water

Excess glucose in animals is stored as

(1)
@)
(3)
(4)

Glycogen
Starch
Maltose

Sucrose

Radioactive decay follows

(D
(2)
(3)
4)

Second order kinetics
First order kinetics
Zero order kinetics

None of the above
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18.

19.

RR7

Nylon is a polyamide of
(1)
(2)
(3)

vinyl chloride and formaldehyde
adipic acid and methyl amine
adipic acid and

hexamethylene diamine

(4) formaldehyde and melamine

The
(CDRI) is situated at
(1) Lucknow

(2) New Delhi

(3) Mumbai ‘
(4) Bengaluru |

#9177270

Gundappa Gowda Committee was formed
with the following objectives regarding
land reforms : -

Abolition of Inam holdings from the
general public for abolition of
intermediaries in the year 1947

A.

Revision of land revenue system

To examine thé need for tenancy
law

#9177270

To recommend principles as to’
payment of compensation to the
Inam holders ‘

Select the correct answer using the codes
given below :

(1) A,BandC

(2) A,CandD

(3) B,CandD

Central Drug Research Institute |

1. Given below are .two stai;ements. one

(4) A,BandD

(9-B)

™

labelled as Assertion (A) and the other
labelled as Reason (R).
Assertion (A) :

In the 1995 Karnataka Land Reforms
Amendment Act, “Public Interest” is the
main motto. . ’

Reason (R) : ' .

1995's Amendment Act aménded that
revenue land can be rented for 20 years.

Select the correct answer using the codes

. given below :

Both (A) and (R) are correét, but (R)
is not the correct explanation of (A).

(1)

Both (A) and (R) are correct and (R)
is the correct explanation of (A).

2y

3) (A)is correct, but (R) is not correct.

) (A)is not correct, but (R) is correct.
According fo the Karnataka Land
Reforms Act 1961, a family (of five people)
was allowed to own

10 acres of fertile land or 171 acres
of dry land

(1)

(2) - 18 acres of fertile land or 150 acres

of dry land

(3) 15 acres of ferFile land or 186 acres

of dry land

(4) 27 acres of fertile land or 216 acres

of dry land
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23. The pace of implementation of which of | 27, ' The test conducted to identify causative
the following land reforms measures has agent of Tuberculosis is
been particularly slow and full of

loopholes ? (1) ELISA

(1) Land consolidation - (2) ASLT

(2) Abolition of zamindari ‘-l (3) VDRL test
(3) Ceiling on land holdings . % @ Mantoux test

(4) Protection of tenants "3
28. Mechanical waves having frequencies

24. Melatonin hormone is secreted by the greater than 20 kHz are called
(1) Pineal L (2) Ultrasonics
(2 Thyroid v (3) Supersonics
o e 2 (4) Infrasonics '

(4) Adrenal - : x| )
. _ '29. Roofs -of huts ‘being blown off during
25. The place where two major biological ' stormy days can be explained by using
communities meet and blend is called an
(1) Archimedes’ principle

(1) Ecosystem :
(2) Bernoulli’s principle

(2) Ecotype
(3) - Ecotone (3) Pascal’s principle
(4) Ecology (4) None of the above

.30. An athlete runs before he takes a long

96. Animals living at the bottom of the sea .. ,
| jump to gamn

are called _ ~
. Y @) frictional force
(1) Plankton | 0
' - = () inertia of rest
(2) Nekton
(3) Benthos (3) potential energy
(4) Pelagic (4) inertia of motion

587 . _ (11-B)
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31.

32.

33.

567

34. MatchLiathithLiatII:

Which of the following mirror is used by a
dentist to €xamine a smg]) cavity ?
(1) Convex mirror =
_ N
(2) Concave mirror Q
-~
(3) Combination of Convex and concave 'ﬁ
mirrors '
(4)  None of the above
WWw.shikarat.com
Jajmani system IS a special form of
exchange. | E
] N
(1) economic N
-
o
(2)  social $
35.
(3) political
(4)  religious
The concepts of little traditions and great i
I~
traditions are formulated by g fﬂ
I~
(1) McKim Marriott bse.
(2) Milton Singer
(3) Robert Redfield
(4) Louis Dumont

C.

D.

List 1 List IT
(Tl;o;kil (Author)

al Herj of I. F.G.Bailey
India toge G Bailey
Tribal 1. S.C. Dube
Development in
India
Tribe, Caste ang II1. B. Chaudhuri
Nation _
Himalayan IV.D.N.
Polyandry Majumdar

Choose the correct answer from the
options given below :

- (D

(2)
@)
(4)

C D
I m 1 1y
1 m o0 iy
I I m
IV I I o

A B

Who were the national level socialist

leaders who entered the Kagodu
Satyagraha ?

1)

(2)
(3)

(4)

Shanthaveri Gopala Gowda and
Garuda Sharma

Khadri Shamanna and Eshwarappa
Ram  Manohar  Lohia

and
Jayaprakash Narayan |
Ram Manohar Lohia and
Shanthaveri Gopala Gowda

In which places did the Karnataka Land
Reforms Act 1974 establish the land
tribunals ?

1
(2)
3)

. (4)
(13-B)

Taluks
Districts
Hoblis
Villages
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}9./ Zpab e ared AZhd B2 ? -

(1)
(2)
(3)
(4)

500 23z @ 9% ISV wRADY wodh |

: mﬁmd e3nd
SF-E35°
mamd mamg
oexdead

seenshabd T 725 880, T 800 I3 &de
s @ 11% 1t oaerb3a?

(1)
(2)
3)
(4)

T 1200
T 1225
T 1240
Z 1300

41. JeBHS BOSabe) 3, Foal, 0, BothBHBAD :

3, 10, 31, 94, 284

()]
@)
3)
4)

10
31
94
284

3 JBMY ©o30BY 2AXB 5 DEY )
Sobab, 50 SFMivd AT ©3e $dab Brbd
Sabrd@y? |

(1)
(2)
3)
(4)

(1)
(2)
3)
(4)

4 33F
7 3a@e
6 Jar
10 Sae

[ ]

143 8VAR ainad 630 JoBvabe ?

B — Ded — Lo
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37. The Mpysore Tenancy and Agricultural
Land Laws Committee was headed by

(1) B.D.Jatti
(2
(3)

(4)

Kadidal Manjappa

S. Nijalingappa

- -,
TE o e F A e 13(4

D. Devaraj Urs

-y

Directions : For questions 38 and 39. These
questions based on the
information :

are’ following

LE 4™ -t

Each of the five persons — Arnav, Khushi,
Anjali, Payal and Aakash has to speak once on
the five different topics — Trade Policies,
Politics, Business Ethics, Startup Economy and
Fin-Tech, not necessarily in the same order,
conforming to the following constraints :

(i) Payal is to be the second to speak
" after the speech on Trade Policies.

(i) Anjali must speak before Aakash.

D s s B Mt

(iii) The speech on Business Ethics is to
be given before the. speech by Arnav. |

(iv) Khushi has to speak on Startup
Economy and the fourth speech is to
be on Fin-Tech.

(v) Two speeches are to be given in
between the speeches on Business
Ethics and Politics.

38. Who has to give the third speech ?
Arnav

Khushi

Aakash

(1)
(2)
3)

, .
T Reacihute B N 1

F o

T ik e B4 A

A ALY

T ke ¥

(4)  Anali
o687

(15—

39. The last speech is on which topic ?
(1) Trade Policies
(2) Fin-Tech
(3)
(4)

Business Ethics
Politics
If ¥ 500 amounts to T 725 @ 9% simple

interest in some time, what will ¥ 800
amount to @ 11% in the same time ?

(1) T 1200
@ < 1225
3 T 1240
@ %1300

41. Find the incorrect number in the given

series :

3, 10, 31, 94,284

(1 10

(2) 31

(3) 94

(4) 284

The sum of the ages of 5 children born at

an interval of 3 years each is 50 years.
What is the age of the youngest child ?

5

(1) 4 years
(2) 7 years
(3) 6years
(4) 10 years

43. Which of the following is nof a food
chain ?
(1) Grass-— Goat — Lion
(2) Grass - Frog — Snake
(8) Grass — Sheep—Man
(4) Grass — Snake — Deer -

B)
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44.

45.

46.

(1) Increasing of animal population

_(2) Planting of trees and bushes
(3) An increasing simplicity of relationsr
(4) Flow of energy and circulation of

47.

967

The discipline of Phytogeography deals
with
(1)
(2)
(3)
(4)

Animal life
Plant life
Study of Tribes

Ancient Civilisations

What is ecological niche?
(1)
(2)

Interdependence of man and plant

Interrelation between man and"
environment F

(3) Role that an organism plays in theE

ecosystem

Relationship between man and
other organisms

(4)

The functioning of an ecosystem involves

¢

nutrients 3
i

5

Find out the correct sequence of naturalz:
vegetation starting from Trivandrum to

Kolkata :

=i
_.'T'..r.l.éll-—'u

= d
T - Ak T =7

. b1.
(1) Tropical Evergreen — Deciduous —
Dry Savanna — Wet Deciduous
(2) Deciduous — Dry Deciduous — Wet
Deciduous — Tropical Evergreen
(3) Wet Deciduous — Deciduous — Dry
Savanna — Tropical Evergreen ?,
(4) Dry Savanna - Deciduous -—H
Tropical  Evergreen  — Wet{: .
Deciduous ch
#
(17-B)

48. The seasonal movement of people with

S
®

their animal flocks between highlands
and lowlands is known as |
(1)
(2)
(3)
(4)

Nomadism
Shifting
Ranching

Transhumance

The species which are restricted to be

‘present in one region are called

(1
(2)
(3)
4)

Endemic species
Edge species
Keystone species
Endangered species

Which of the following states has the
highest percentage of tank irrigation ?

(1) Kerala

"2 Karnataka

(3) Himachal Pradesh
@)

Punjab*

Conservation of natural resources aims at

one of the following :

(1) Complete ban on the use of

.resources

Some restriction on the use of
resources

2

(3)
(4)

Dependency on natural resources

Rational use of natural resources
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52. Mangrove vegetation -in India is most

extensively found in the region of

(1) Malabar Coast

(2) Rajmahal Hills

Sund'arban

(3)

(4) Vindhya Range

53. Recenj:ly .discovered

N,-fixing bacteria is

(1) Rhizobium
(2) Azotobacter
(3) Rhodospirillum
@ Spirulina
54. Etiology includes the study ;)f
(1). Host
(2) Pathogeh
' (3) Parasite
(4) Disease
55. Genomic library can be prepared by

(- PCR technique
(2) Colony hybridization
(3) ‘Shotgun experiment

(4) Al of the above

567

non-leguminous

#9177270

57.

[T 1 — — ]
LG+772760

™ 7

58.

e T i B 1
I E-YA"

(19-B)

3.

In an examination, 70% of the students
passed in English and 65% in
Mathematics and 26% students failed in
both English and Mathematics. The total
number of students who passed in the
e_!cami:lzatic;n are 250. Whaf is the number
of students who appeared in the

examination ?

1) 500
(@ 417
3)' 450
(4) 325

-

Choose the missiﬂg term as shown by (?\3 :
out of the given alternatives from the -
series : - _
BXJ FVM JTP NRS ?
(1) SXU

(2) RPV "

RXW

(4) QYV

A and B’s salaries together amount to
Z 20,000. A spends 95% of his salary and
B spends 85% of his. If now theif savings

are the same, what is A’s salary ?

(1) ¥ 5,000
(2) ¥ 17,500
3)° ¥ 12,500
@ % 15,000
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The sum of the ages of a father and son is | 64.
45 years. Five years ago, the product of
their ages was four times the father's nge
at that time. The present ages (in years)
of the father and son are
(1) 34,11 LD\
@ 35,10 N
~
(3) 36,9 =
lix
(4) 40,15 _
A society that celebrates the harvest
festival of Huttari in Karnataka is
(1) Kadu Kuruba
(2) Koragaru 65.
(3) Soliga
(4) Kodava -
=
The temple built by Vishnuvardhana to 3
commemorate the defeat of Cholas in :
Talakadu is . %
(1) Keerthi Narayana of Talakadu 66
(2) Kappe Chennigaraya '
(3) Veeranarayana of Belavadi
(4) Chennakeshava of Beluru
Haridasa who wrote Krishana Charitra is
(1) Kanakadasa '
(2) Vijayadasa -~
(3) Purandaradasa 37
(4) Jagannathadasa F:
—~
Pietro Della Valle, the Italian traveller, i}
visited whose court in Ikkeri ?
(1) Sadashiva Nayaka
(2) Chikkasankanna Nayaka
(8) Venkatappa Nayaka -
(4) . Shivappa Nayvaks
' | (21-B)

A bag contains 2 Red, 3 Green and 2 Blue

balls. 2 balls are to be drawn randomly.

What is the probability that the balls
drawn contain no blue ball 7

(1) %
@ o2
3) %
@

Which of the following is a measure of
central value ?

(1) Median

(2) Standard Deviation

(3) Mean Deviation

4 Quafﬁle Deviation

Presently the base year used for National
Income estimation in India is

(1) 2005 - 06

(2) 2011-12

(3) 2014-15

(4) 2019-20

Under the recommendation of which ~of
the following committees, RBI decided to
transfer its surplus reserves to the
Government of India ?

(1) Bimal Jalan Committee

(2) Urjit Patel Committee
(3) Raghuram Rajan Committee
(4) Arvind Subramanian Committee
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68.

69.

70.

1.

| (3) Panchayati Raj Department

R7

In which of the following year was
Effective Revenue Deficit introduced ?

(1) 2008
(2) 2015

(3) 2012

— —

(4 2010

-
—

sector least

The impacted by
pandemic-related disruptions was

(1) - Agriculture sector
(2) Industry sector
(3) Service sector

(4) Tertiary-sector

goods and services excluding food and
energy” is known as

(1) Shrinkflation
(2) Skewflation
(8) Core Inflation

(4) Structural Inflation

Who has developed the “HASIRU" |

software in Karnataka ?
(1) Horticulture Department

(2) Forest Department

PR S Sy vy

e

i
“An inflation that shows price rise in allf[’

e i

s gy ——
- Ty

(4) Land Reforms Department

72. Who is the founder of Institute for Social

and Economic Change in Bengaluru ?
(1) Dr. M. Vishweshwaraiah

(2) Dr.V.K.R.V.Rao

(3) Devaraj Arasu

(4) Ramakrishna Hegde

Which Bill was proposed to be pasbed to

solve problems in infrastructure

contracts, PPP and Public Utilities ?
(1) Skill Development Programme Bill
(2) Companies (Amendment) Bill

(3) Public Utility (Resolution of
Disputes) Bill

(4) Goods and Services Tax Bill

Arrange the following stages in the
enactment of budget in proper order :

I.  General discussion

[I. Passingof the Appropriatioﬁ Bill
III. Passing of the Finance Bill

IV. Voting of Demands for Grants

V. Presentation to legislature

Select the correct answer using the codes

given below :

1) LILILIV,V
2 V,LILIIL IV
@ V,LIV,ILII
4)  V,LIV,ILIII

(23-B)
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(1) (A) @& (R) oFde s @3 (R)

o0 (A) ab BBaT JScEaleNd
(A) a3 (R) odde &, ©Td (R)
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(A) X, 8gd (R) 3),
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3 "1 1 n v
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75. Which cess is/are levied 0-5 per cent on all | 78. Consider the following statements :

services ? .
(1) - Swachh Bharat Assertion (A) :

A co-operative organisation shall have

| (2) Krishi Kalyan ¢
(3 Kaushal Vikas 5 X voluntary and open membership.
(4) Both (1) and (2) .  Reason(R):
x4
oy The main objective of a co-operative
The Kannad At isation i
76. a and Culture Department organisation is to make profit.
G{;vzm:n erlto O:k Karnataka ordered to Choose the correct answer from the
celepraie: nake Ob:\ga Jayanti” on options given below. '
___  ___In memory o ak i .
Karnataka Y bake Obinvva'in (1) Both (A) and (R) are true and (R) is
’ the correct explanation of (A)
h - .
(1) October 5* | @) Both (A) and (R) are true, but (R) is
(2) November 11th not the correct explanation of (A)
_ (3) (A)is true, but (R) is false
(3) December 6% ?2 )
N (4) Both (A) and (R) are false
(4) November 14 - Ie o | S
179, Match List T with List IT :
77. Consider the following sta : : 1k '
ider the following statements List I List I
Assertion (A) : |- A. Narasimham 1. Tax reforms in
Committee India |

Public health, public. sanitation and
public utility services are maintained by
Gram Panchayats.

B BalawantRai  IL Agricultural
Mehta Committee  credit system

C. Raja Chelliah IT1. Banking

Reason (R) : Committee reforms
Maintenance of law and order does not |  D. Khusro IV. Panchayati raj
come under the purview of Gram & Committee reforms '
Panchayats. . ' F:i | V. Public
Choose the correct answer from’ the{* ~ distribution
options given below : ) iy system
D Both (A) and (B) are true and (®)is§ (O the eowredt smggper frost the
the correct explanation of (A) OPtIOH;gl NEIEDLoY
) B C
() Both (A) and (R) are true, but (R)is D1 I n
not the correct explanation of (A) 1 ( v , 11 v
2 11 1
(3) (A)is true, but (R) is false 23; I 1 B 31
(4) Both (A) and (R) are false @ m v 1 I

(25-B)



}A@, I 3 3¢ 11 =, BeoB 2B :
g I e 11

82 707003 BoB RS w¥d MmN Ricbeg
S §g Cuen 03 JBET B0 VITY

A, RodgeRd 523 1. Boweahd o%f ﬁ?mic’::;?oima 3
3d)38 & 2 m dﬂtdﬂi; aloeas
B. Sodmesd 738e 11.3083 wedriwd / L‘i (3) SVAMITVA oloesss
38 dordgert L e
Derernd o ,
{83 atn3 dwavah o33 SveFuBE, “Mod
C. oGRS 77:¢ 116 Bod 14 3T ¢ andhi Fiovince) S Haftinh
LI 28,0t ouId ) ?;3@;) ., - :
S5h o (1)  ~orios eddead B3P (1930)
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80.

81.

o967

Match List I with List I7 -

N 'Lisz I : List II
52"% Amendment I.  Panchayati Raj
of the yat Ry
Constitution
B. 73 Amendment II. Reservation for
of the Scheduled b
Constitution Castes/Tribes M
(a!]
C. 77th Amendment III. Free and M
of the compulsory iy
Constitution education for P
children aged 6'f
to 14 years
D. 86&' Amendment V. Prohibition of
of the Defection
Constitution )
V. Internal
Emergency

Choose the correct _aﬁswer from the
options given below :

B

84.

(1)
(2)
3)
(4)

4R " 4P
<= g&ao
~ <2 go

#9177270

I
v
I
II

Which Indian orgamsatlon conducts a
training programme named Yuvika’ for

school children ?

(1) Defence Research and Development '

-
Organisation . ?J
(2) Bhabha Atomic Research Centre F:
.'
(3) Indian Space Researclﬁg'
Organisation |
(4) Council of Scientific and Industrial
Research -
(27-B)

82. Name the scheme introduced by the

Government of India for survey and

mapping of villages with

improved

technology :

(1)
(2)
(3)
4)

e-Governance Scheme
Gramodaya Scheme
SVAMITVA Scheme
e-Village Scheme

83. After which movement was the name

‘Gandhi Province’ given to Karnataka ?

(D)

(2)

(3) -

(4)

The Civil Disobedience Movement
in (1930)

The Quit India Movement (1942)
The Swadeshi Movement (1905)
Non-Cooperation Movement (1920)

1924 Belgaum Session of the Indian
National Congress was presided over by

(1
(2)
3)
4)

‘85. The

1
(2
3

Moti Lal Nehru

C.R. Das

Jawahar Lal Nehru

Mahatma Gandhi

English East India Company

established their first factory in India in

Surat

Balasore

Madras

Calcutta

(4)

DBB Who was the Mughal Emperor at the
time of Ahmad Shah Abdali’s invasion of

India?

(1) Muhammad Shah
(2) Ahmad Shah

(3) ShahAlamI

(4) Shah Alam II
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(1)  40:0%
38-6%
- 36-6%

(4) 356%

88. wpedaber watpeds orR) ReBRHBT ?

1)
(25
(3)
(4)

3 waleeadF

Brere woleedr

ey Todeadhr* woleedsF
2daleedabha* waleedrf

2024 O 20025° demedpusl aired Sriod)

 esaleedRon?
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(1)
2)
(3)
4)

9,07
(3l )
T DoROeT*
deese

8YAR ind :1e8oad edrid) ©BSsdd
3d) IBsdaend ?

(1)
(2)
(3)
(4)

S edri
P edniw
R 0dniw
L edriw

(28-8B)
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g7.

88.

89.

. (2) Pwaves b
(8) R waves
4) ) L waves
(29-B)

567

Karnataka has the 8P position in terms
of percentage of urban population to total
population of the states

Considering the following
identify the correct percentage of urban
population of Karnataka as per 2011

in India.
options,

census :
(1) 400%
(2) 386%
(3) 366%
(4) 356%

Boreal biome refers to
(1)
(2) _
(3)
4)

Taiga biome
Monsoon biome
Laurentian biome

Ethiopian biome

Which city will host the 2024 Olympic
Games? .

(@)
(2)
(34)
(4)

Paris
LOII&DD

Los Angeles
Doha
Which of the following: earthquake waves
are more destructive at the epicentre ?

(1) S waves

www.shikarat.com

91.

RN A B o L Yo |
T IdAld J'L?C

TN a i B L L Y
#9177276

Match List I with List II :
List I . Listll
Types of Examples
Mountain

A. Folded . 1. Cotopaxi
Mountain

B. Volcanic II. Adirondack of
Mountain New York

C. Fault Block III. Himalayas
Mountain

~D. Up warped IV. Sierra Nevada

(Domed) of California
Mountain

Choose the correct answer from the

options given below 2

A B C D

(1 I III I v

@ 1 I v I

3 1 v m 1II

(4 I I I v

Which of the following regions are known

for coal and petroleum production in the
world?

A.- Donbas

B. Masjid-e-Sulaiman
C. Lake Superior

D. Gulf of Maracaibo

Choose the correct answer from the
options given below :

‘(1) AandB
(20 A,BandC
(3 A,BandD
40 B,CandD
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Match List I with List 11 :

94. Match List I with List I :

List I List I1
' ‘ (Tribals) (State! Union
ListI List IT o Territory of their
Avalanche Characteristics distribution)
Zone
A. Gaddis I Himachal Pradesh
A. RedZone I. Where snow

avalanches are most B. Gujjars 1I. Jammu and Kaghmir

frequent C. Bhotia III. Manipur
B. Yellow II. Where livi
ere liying and D. Kuki  IV. Uttarakhand
Zone other activities may 4} _ ¢ from the

be permitted with Chst;se Fl\::n EZ{;::_ answer 1o
connection of safe OpUoRA -
designs A B C D .

C. Blue Zone III. Where snow

m on 1 W m
@ m o I W
@ m 1 o W

avalanches occur only
occasionally

IV. Snow avalanche-free
zone

@ I W I I

1,95, Consider the following statements :
T

Choose the correct answer from th

In 2011, India had 17-64% of
options given below :

decadal growth of population.

1. The 2011 Indian census was the
,A B C 15 census.
1) .1 I1 1\Y II1. In India, census has been conducted
. ~ since 1872,
@ I i i Which of the above is/are correct ?
@ I v I (1) Onlyl-
(2) Onlyll
@1 v I

3@ L IMandIl
(4) TandIIonly
. (31-B)
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a5 1

(3B Y)
A wszdhad
B. atooe

e 1
(8TIDT)

L Aefoyod

II. sv0riee wlednF

C. 2n, TIL. exctesar 2esmobs
3Te3

IV. 3030

& 8Vt AXBDI uICHVY IO VST
esaly&redd :

D. odae

A B C D

m 1 o m v R

@ IV 11 | G N

@ o Im VA | »

@4 IV I m I A

NO, S0 o028 3 Bedden 43

(1) +3

2 +2

3) +1

4) +4°

BaoFid RseF0E 2022 — 2023 Je ORI

A3ead BesBab rhd azhE)?

(1) GSDP ob Ze 4-5% o

(2) GSDP ob Ze 5-25% N

(3) GSDP ob Ze 241% N

(4) GSDP ob e 3-26% =
N

(32-B)

D9 _ﬁk%ﬁ o3 G‘mm

100 Zyertid 0BG
3330, "'u:!cbﬁ el 3RO E;am
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2R aira BeuSabR), 33590 Sreday?
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a. EEJ&

b. 3y med3

c. a&ra aimu:@uqsﬁw

d. sRToamy VNW
SORTONE Uy WBAWw 5 vy
Soabren Jowoddd, vghriveds

(1)

(2)

a. §a

b. 3,708

c. 6BFE oI
d. %3 303

e. ¥z

(3) TorcRwed 35 TWedsriw 5 vy
Soabnert JooBAS, erive
wvrteod:

a. 8d

b. 8,03

c. 8BF8 DoorPuLiRw
d. ARS8 RwuPUR R
e. aaiadoané (37 IatE)

(4) 3dnsNd 30 ARusnsy 5 @
Boobron  Powoddd, e
w¥rlRodY):
agd
b. 3,m08

c. uBf8 Eimo@ouér{q)
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96.

97.

e))

98.

99.

567

Which sea is located to the south of
Ukraine ?

(1) Red Sea

(2) Caspian Sea

(3) Baltic Sea

(4) Black Sea

Match List I with List IL :

List I List IT
(Tribes) (Habitat)
Bushmen Greenland
Congo Basin
Amazon Basin
IV. Kalahari

Choose the correct answer from the
options given below :

Bora

Pygmy
Eskimo

L
IL
ITI.

Cow»

(2)
3)
4)

3H3 P
HEEe W
HIHgo
S

Oxidation state of nitrogen in NOg is

+3
+2

1)
(2)
3)
(4

+1

+4

Karnataka Government’s fiscal deficit for
2022 — 2023 was targeted at

(1) 45% of GSDP
2) 525% of GSDP
@3) 2-41% of GSDP
(4) 3-26% of GSDP

(33-B)
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3

@

100. Measuring backwardness of taluks in

the State of Karnataka, the High Powered
Committee for Redressal of Regional
Imbalances (HPCRRI) - 2000
recommended which of the following
indicators?

(1) All the indicators considered
pertained to 4 main sectors, which
include
a. Agriculture
b. Industry

¢. Economic Infrastructure

d. Population Characteristics

All the indicators considered
'perta.ined to 5 main sectors, which
include

a. Agriculture

Industry

Economic Infrastructure
Information Technology
Education

The 85 indicators considered
pertained to 5 main sectors which
include

a. Agriculture

Industry

Economic Infrastructure

Social Infrastructure

Population Characteristics

The 30 indicators
pertained to 5 main sectors which
include

a. Agriculture

Industry

Economic Infrastructure
Population Characteristics

Social Infrastructure

(2)

o a0 T

o po o

considered

o a0 o
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